
 

s@lm@n 

 

Exam Express 
Exam EE0-011

 

atg certified relationship management developer
 

Version: 5.0

 

[ Total Questions:   87 ]

http://www.maitiku.com QQ:860424807

http://www.maitiku.com
http://www.maitiku.com


Topic break down

 

Topic No. of Questions

Topic 0: A 87

Exam Express EE0-011 : Practice Test

2
http://www.maitiku.com QQ:860424807

http://www.maitiku.com
http://www.maitiku.com


Topic 0, A
A 

Which droplet renders a subset of the elements in an array?
 
A. Range 
B. Subset 
C. ForEach 
D. ForEachRange 
 

Answer: A

 

 

You want to remove middleName from the user item descriptor in the Profile Repository
and add a boolean over18 property. What should you do in your custom userProfile.xml
file?
 
A. create a user item-descriptor tag with xml-combine="replace" 
create a middleName property tag with xml-combine="remove" 
create an over18 property tag with xml-combine="append" 
B. create a user item-descriptor tag with xml-combine="append" 
create a middleName property tag with xml-combine="remove" 
create an over18 property tag with xml-combine="replace" 
C. create a user item-descriptor tag with no xml-combine declaration 
create a middleName property tag with xml-combine="remove" 
create an over18 property tag with xml-combine="append" 
D. create a user item-descriptor tag with no xml-combine declaration 
create a middleName property tag with xml-combine="replace" 
create an over18 property tag with xml-combine="append" 
 

Answer: C

 

 

Which two are required to use Dynamo's targeted email functionality to send a mass
mailing with each message containing a different set of targeted content specific for each
user? (Choose two.)
 

Question No : 1  - (Topic 0)

Question No : 2  - (Topic 0)

Question No : 3  - (Topic 0)
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A. a scenario 
B. a repository 
C. a page template 
D. a schedulable component 
 

Answer: B,C

 

 

Which two statements are true if a repository item type T has a property P that has the
cascade="update" attribute set? (Choose two.)
 
A. Property P can be defined as either a repository item or a Collection of repository items. 
B. The cascade="update" attribute is applied recursively to any properties in the items
referenced by property P. 
C. Anytime that a repository item of type T is updated, all corresponding items referenced
by property P are updated. 
D. Anytime that a repository item of type T is added to the repository, the corresponding
items referenced by property P are also added to the repository. 
 

Answer: A,D

 

 

What is the primary purpose of the Java Message Service (JMS)?
 
A. to provide a uniform method for sending email 
B. to allow asynchronous, decoupled communications 
C. to use a database to queue messages regardless of type 
D. to create a publish-subscribe model for synchronous messages 
 

Answer: B

 

 

Click the Exhibit button. 
 
 
Given the CONFIGPATH and properties files: 
 

Question No : 4  - (Topic 0)

Question No : 5  - (Topic 0)

Question No : 6  - (Topic 0)
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CONFIGPATH: <atg-dir>\Dynamo\MyProjectv1\config; <atg-
dir>\Dynamo\MyProjectv2\config; <atg-home>\localconfig 
 
 
What will be the final configured values of the name and age properties?
 

A. name=Joe, age=32 
B. name=Joe, age=34 
C. name=Mary, age=34 
D. name=Joe, age=null 
 

Answer: B

 

 

What is the easiest way to implement a Schedule if a scheduled service is required to run
twice each Monday?
 
A. PeriodicSchedule 
B. RelativeSchedule 
C. CalendarSchedule 
D. RecurrentSchedule 
 

Answer: C

 

 

What are two advantages of using Item Descriptor Inheritance over independent item
descriptors in a repository definition? (Choose two.)

Question No : 7  - (Topic 0)

Question No : 8  - (Topic 0)
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A. Duplicate data across different tables can be avoided. 
B. The number of database tables is reduced, simplifying queries. 
C. Item descriptors can inherit properties from multiple parent sources. 
D. Queries for items with common attributes can be created more easily. 
 

Answer: A,D

 

 

Which method of the ProfileFormHandler should you override to implement code that
updates a custom statistics data store whenever a new user successfully registers?
 
A. createUser() 
B. handleCreate() 
C. postCreateUser() 
D. createUserSuccess() 
 

Answer: C

 

 

Which two features describe an SQL repository? (Choose two.)
 
A. An XML file maps database structures to objects. 
B. All SQL queries must be specified in the configuration. 
C. SQL Repositories that store files should not exceed 1,000 files. 
D. Transient properties can be defined that are not stored in a database. 
 

Answer: A,D

 

 

What is a characteristic of a transient Repository Item property?
 
A. It holds repository meta-data. 
B. It is not stored in the database. 
C. It is not cached in the repository. 
D. It is stored in an auxiliary database table. 
 

Question No : 9  - (Topic 0)

Question No : 10  - (Topic 0)

Question No : 11  - (Topic 0)
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Answer: B

 

 

Given the following code fragment: 
 
 
    import atg.repository.*;
 
     ... 
 
    public void MyMethod(RepositoryItem item) { 
 
          String name = (String) item.getPropertyValue("name"); 
 
 
Which two statements are true? (Choose two.)
 
A. item is an instance of the RepositoryItem class. 
B. item is an implementation of the RepositoryItem interface. 
C. The item's ID is obtained by invoking item.getRepositoryId(). 
D. The name property of the item is changed to "Robert" by invoking
item.setPropertyValue("name", "Robert"). 
 

Answer: B,C

 

 

Which two statements are true if a content repository stores meta-data in an SQL database
and content in a filesystem? (Choose two.)
 
A. Two XML files describe the repository. 
B. File content is represented by a user-defined property. 
C. The repository can have only one content item descriptor. 
D. Targeting rules can be based only on the information in the SQL database. 
 

Answer: B,D

 

 

Which interface should you use to retrieve a repository item for update when you  have a

Question No : 12  - (Topic 0)

Question No : 13  - (Topic 0)

Question No : 14  - (Topic 0)
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